ICNS 100 Homework 3

Problem 3.1
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22, A vertical line has the form x = a. Thus x = -1,
orx+1=0
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26. x—2=6o0rx=_8,1savertical line. Thus the
slope is undefined. There is no y-intercept.

j__
o I =
30. x-9=5y+3
Sy=x-12
}J_IE_IE
T8 5
mzl,bz—z
5 5
s+

P

38 3x-4)-T(y+)=2
3x-12-Ty-7=2
3x—T7y—-21=0 (general form)
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—Tv=-3x+21, or y=—x—3 (slope-intercept
' !
form)

56. v =-—41is a horizontal line. The perpendicular line
must be vertical and has an equation of the form
1 =a. Since that line passes through (1, 1), its
equation is x = 1.



Problem 3.2

4. fis)=3(5 —25) = 15 — 65 has the form
fis)=as + b where a = —6 (slope) and b = 15 (the
vertical-axis intercept).

8. Lety=fix). The points (0, 3) and (4, —5) lie on

the graph of f. M= _; —[IS =—2_ Thus

y—32=-2{x-0),s0
y=-2x+3= flx) =-2x+3.

10. fix)=ax+Db=-2x+b.

Since i §| =—7. we have
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so f(x)=—-2x——.
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16. The line passes through (26,000, 12) and
(10,000, 18), so
18-12
=
10,000 — 26, 000
p—18=-0.000375(g — 10,000} or
p=-0000375g + 21.75.

=—0.000375. Then

20. The line passing through (100, 79) and (400, 88)
88-T79

has slopg —————= (.03, so an equation for
400-100

the line is

c—79=003x- 100)

c=003x+ 76



245,000 49,000
= and
15 3
v-intercept 245,000. So

y=1f(x= 49,000 X+ 245,000

26. The line has slope




